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uUq.qur1hL <hthnpbprulfrL Ctrl;bpnrplnrL> LtLttr APC-L 2014 p{utUurLh rlulfluft

29-htr (uluuuunrutrfr (urbpurqbunnrplutr QbLunpntrurUu,l, puLtj h t,bnUulugpbl

120,000 hr.uun, 10 000 (( rynurl urbr{ulurlqurt tupdbpn4, 5 Lnunh Zng*lrurnbfirnrplurlr
durdQbunnr{, 12% unupblqutr urtrr{ruLru!urtr LnntlnuurrynnUpnLt, urpdbtlrnpnLLLhplt

t.1huur.llu.,t1uJhtr r.{6uprlurrlp, uqurhn{{rub <Uqqurlfrb <h,.hnpbpurlfrL CULlbpnrplnrL,
q-qq OpC Linqr.lhg nUn,Iu4hupuuLU, QPI-nul trbprypr{ub 3 000 000 UUL rynlurnh Lr

30  000  000
urq,rluqnh qnuLgrJuL htulun, ]rtrlqbu hurtr hrudurqu.rLnurufututr Llrq"rlLuqhn0 Ll

<Updhprypbnh 2nrt4ulfr duufrtr> (tuluruunutrJr (urtrpurqbunnrpluL opbLpn{ tI
(r.u1tuuLnurlrh (tuLpurqbmnrplurL t4btrunpntrurU*t, purtrqh LnprfurLnh4 hn,r,{ut!ult
urL.lunnu[ urq.ryLuqnh qnutrgilutr hurlup u]LuhuLgr{nry pn1.nn r,l' 'ruLnurfdr[pbn0: 2014

prluUurlrh hnrlr[rufr 2-ht, nUqqurlfrtr <hqlnpbpurlfrL CIrt{bpnrplntL,' lLlq OpC-lr

t bnUurJurgnbt h urq_ryLuqnh muignrrl:
b1'trblnr{ 4bnnqnJurthg tr hhr'lp [Lrynrtrblnr{ u(,uJu]uLnurtrh (urlrnuru.lbunnrpl,ulr

QbliunpnLuU*t, purLqh rlurufrL (uluiuunurLlr (urLnuru{hr"nnrplurL opbLp[ 2-nry

hnryr{urbfr 3-nry i luup, uUpdbprypbnh 2nrQulfr rhuufrL, (ur1uuLnurLh

(ruLpruqbunnrpluL opbLp[ 1O-nry hnry{ubir 1-hl, r luup tr (r ir luruunutrft

(uutrpurqbunnrpluL !btrr,npnLuuUurtr pLULqh frgbLqur{npdurL tr ,.lbnr'lhul.lnrlnrppuL

hnrLdlurdnqn4h bq.nu,tturgnrplnrLp (2014 prlur!,ut,h hnrtrfru[r 11-h ph{ 25

u nd uL uqp n rpl n rL)'
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1. Spurtrgbl (UqqurlfrL <hLhnpbpurlfrtr ClqbpnrplntL> qqq fiult
p u d I r b u n h p t r r | . , 1 u r L n L U b n n r p 1 u I r q n q . I h g t , b n U u J J L U g 4 * 6 1 2 0 , 0 0 0 h u r u n , 1 0 0 0 0 < <



qnLuLI urLr{rull*L;L*t, updbpnt{, 5 ,nurnh 2n2rulrurnbllrnrplruli drurlQbunn{, 12%

LnLunht4uL urtr{urLrulurL LnnL{nuur}pnUpn4, urpdhtlunpnLlrLbpfr !hr*t l l*!ur1hlr
r.l6,uprlwr.lp, uLrluhnu[{ul6 nUqarulfrtr <h,]'rnpbprulfrL CtrqbpnrplntL,..{.-{Ll OpC

t.1nrytlhg uUnrluulf iupurtrt{,, QpC-nrd Lbnryn4,rrb 3 000 000 ULIL qnLurnh h 30 000 000
(( ryn u LIh ur r{ruL ryL bn h qp ru 4n u[ ru ndbll un p nL u1 ht, Lr{ u] fi Ln LU Ln n du b p h *q.q*qh n n :

2, tJnrltr nnnznrrlp nrdfr dbg h t lunUnrd uLnnnurqnrfuuLp hru2nnrynq" opr{uLIg:
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